TEMRE (HEBIERE) (D) 60, 440, 000
FHAE AR (HEBIBRE) 48, 130, 000
ARLFE (BAEFHMEFLSRN NEX) )
1. fF % PR3 O DU H T PN IE S i R S R S Y B B4 SN [EE SR EMEARERE Ke N S D
XX HAT B
2. FURFBET = EN)EE ST
VA | B4 ZENJIEEFGIREREER R4 HE 7 A
3. AL B  FK304% 3H23H 93 04y
- %51 [ %5 2 [ %5 3 [m]
E=Zd &“ NFLATIASE %1 filiks 5. (C) R NFLATIASE %1 filiks 5. (C) R NFLATIASE %1 filiks 5. (C) S i 2
(B) 60X {1-(B)/ (D)} 0 + (© (B) 60X {1-(B)/ (D)} 0 + (© (B) 60 % {1-(B)/ (D)} » + ©
_ _ _ _ _ _ %
(B EXR 48 48, 280, 000 12.0714 60. 0714 (ER30%F 48 28)
TUT R () 50 60, 000, 000 0. 4367 50. 4367 - - - - - —
AN YIZ SAN( ) 47 48, 380, 000 11.9722 58.9722 — — — — — —
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FeiifT A EE{E D A ER (BB EF A )
TS OFEMAHMENERERABEER
. BT ST
HEABIE (HfiE) HifrRE R
HAFE (L)
- ] = e = BfRE |H&ifiSaast
. A BEETE P wET-Y| M| me | #ER | AE
& AR AR =T 5 BRI HRMEE | N +E)
= _ . By | FHEAR o (D) |(E)=(C)x
e o | ERERE FHRUTHE . -« e | BIERR Ti-ak )
R R @Rzvon | RHMA | FURET miE | RBEE | KBAM | K 1
L2
2 4 2 2 (-2) 10 3 3 10 4 20 - 15 15 - 30 1.00 30 60
1 lRamEx 2 3 2 2 0 9 3 3 9 0 15 - 15 9 - 24 100 | 24.0000 | 48.0000
2 |[Formamksa 2 4 2 2 0 10 3 3 7 0 13 - 15 12 - 27 1.00 | 27.0000 | 50.0000
3 |Bwasynsovssan| 2 2 0 2 0 6 1 3 7 0 11 - 15 15 - 30 1.00 | 30.0000 | 47.0000




